
 

Tabla de derivadas Cálculo Fácil 

𝑫𝒙(𝒙𝒏) = 𝒏𝒙𝒏−𝟏 
 𝑫𝒙�𝒔𝒆𝒏−𝟏𝒙� =

𝟏
√𝟏 − 𝒙𝟐

 
 

𝑫𝒙(𝒖 + 𝒗) = 𝑫𝒙(𝒖) + 𝑫𝒙(𝒗) 
 𝑫𝒙�𝒄𝒐𝒔−𝟏𝒙� =

−𝟏
√𝟏 − 𝒙𝟐

 
 

𝑫𝒙(𝒖.𝒗) = 𝒖.𝑫𝒙(𝒗) + 𝑫𝒙(𝒖).𝒗 
 𝑫𝒙�𝒕𝒂𝒏−𝟏𝒙� =

𝟏
𝟏 + 𝒙𝟐

 
 

𝑫𝒙 �
𝒖
𝒗�

=
𝑫𝒙(𝒖).𝒗 − 𝒖.𝑫𝒙(𝒗)

𝒗𝟐
 

 

𝑫𝒙�𝒄𝒐𝒕−𝟏𝒙� =
−𝟏

𝟏 + 𝒙𝟐
 

 

𝑫𝒙(𝒆𝒙) = 𝒆𝒙 
 𝑫𝒙�𝒔𝒆𝒄−𝟏𝒙� =

𝟏
𝒙√𝒙𝟐 − 𝟏

 
 

𝑫𝒙(𝒂𝒙) = 𝒂𝒙𝒍𝒏𝒂 
 𝑫𝒙�𝒄𝒔𝒄−𝟏𝒙� =

−𝟏
𝒙√𝒙𝟐 − 𝟏

 
 

𝑫𝒙(𝒍𝒏𝒙) =
𝟏
𝒙

 
 

𝑫𝒙(𝒔𝒆𝒏𝒉𝒙) = 𝒄𝒐𝒔𝒉𝒙 
 

𝑫𝒙(𝒔𝒆𝒏𝒙) = 𝒄𝒐𝒔𝒙 
 

𝑫𝒙(𝒄𝒐𝒔𝒉𝒙) = 𝒔𝒆𝒏𝒉𝒙 
 

𝑫𝒙(𝒄𝒐𝒔𝒙) = −𝒔𝒆𝒏𝒙 
 

𝑫𝒙(𝒕𝒂𝒏𝒉𝒙) = 𝒔𝒆𝒄𝒉𝟐𝒙 
 

𝑫𝒙(𝒕𝒂𝒏𝒙) = 𝒔𝒆𝒄𝟐𝒙 
 

𝑫𝒙(𝒄𝒐𝒕𝒉𝒙) = −𝒄𝒔𝒄𝒉𝟐𝒙 
 

𝑫𝒙(𝒄𝒐𝒕𝒙) = −𝒄𝒔𝒄𝟐𝒙 
 

𝑫𝒙(𝒔𝒆𝒄𝒉𝒙) = −𝒔𝒆𝒄𝒉𝒙. 𝒕𝒂𝒏𝒉𝒙 
 

𝑫𝒙(𝒔𝒆𝒄𝒙) = 𝒔𝒆𝒄𝒙. 𝒕𝒂𝒏𝒙 
 

𝑫𝒙(𝒄𝒔𝒄𝒉𝒙) = −𝒄𝒔𝒄𝒉𝒙. 𝒄𝒐𝒕𝒉𝒙 
 

𝑫𝒙(𝒄𝒔𝒄𝒙) = −𝒄𝒔𝒄𝒙. 𝒄𝒐𝒕𝒙 
 

 

 


